1. How do find length of the cursor in cics map ?
2. After execute the map, What will happen ? Give breif Description
3. WHAT IS DIFFEENCE BETWEEN PDS AND PDES? STEPS BEFORE MERGING? DUMMY DATASET USES? DIFFERENCES BETWEEN IDCAMS AND ICETOOLS? DIFFERENCE BETWEEN ALL JCL UTILITY TOOLS?
4. When u create a PF and did not fill up Maint parameter, then by default which access path will the system take & why
5. Can we change the LIMIT of GDG?

6. what is meant by record lock.how records are locked.what is the purpose of record lock.if records are locked what happens.how to find out which record is locked.
7. created cluster using IDCAMS ..that is empty ..when i write a program for read using Input ..wil it open the cluster or gives any error?
8. How to read a PF in reverse(from last rec to first) using CL?
9. what is the difference b/w level no.01 & level no.77?
10. what is the difference between declaring the cursor in WS section and Procedure division?
11. COBOL Snippet: Tell where the control will when the below code execute IF (A=B) CONTINUE ELSE NEXT SENTENCE PERFORM <IMP-STMT> END-IF.
12. JCL Example: // //RUNJCL JOB CLASS=5,MSGCLASS=6,NOTIFY=&SYSUID //STEP01 EXEC PGM=IEFBR14 // .. .. If this JCL will run or it'll throw the ERROR?
13. 1.Load an runtime array of length 99 from the pf and you want to handle all the possible errors?
14. what is multijoin logical file? what are the keywords available in joinlogical file? what are the mandatary keywords for joinlogical file? explai the keywords?
15. My JCL have five steps & I created new versions of GDG in first step through fourth step & fifth step I was refered Step one GDG version. My JCL got abend at 4th step and how I can restart my JCL Please let me know the answers. //STEP1 EXEC GDG1(+1) DISP=(NEW) //STEP2 EXEC GDG1(+2) DISP=(NEW) //STEP3 EXEC GDG1(+3) DISP=(NEW) //STEP4 EXEC GDG1(+4) DISP=(NEW) //STEP5 EXEC GDG1(+1) DISP=(OLD)
16. What is quasi rentrancy concept in CICS?
17. difference between CHAIN and READE?
18. how to submit a jcl by cobol program. clear me with an example.
19. I want to increse the size of one existing dataset, can anyone tell me the TSO command throgh that I can edit it.
